Problem about the angle of
gamma with charged track



Hadronic event selection

7' production and hadronic event

() Select hadronic event @ a° reconstruction

® Remove Bhabha and (y) y y events with EMC information
v" Two showers with 1%/2™ energy deposition
6,+8,—180° |<10° and E = 0.65%E,.,
® Good track selection
v Vi< Tem. [cosB] <0.93 (|Vz] cut 7)
v Momentum <0.94%E,__
v [LdE dxnra'dE dxpmton;' Gpmmn{lﬂ
v Veto election with Momentum > 0.65%E, ., && e/p> 0.8
v Veto gamma c:::meramn with M(e.e) < 100MeV && Open angle<15°
0

Why not use the
Angle >20 ° cut

Ehml = 25MeV: E gy = S0Me
<=TDC <= 1—1[:5{‘?{}113 ;
® [solated photon selection

v Eh arrel = ’?SMEET Eepicap = S0MeV
v <= 14{x50ns):

v Aﬂgle?"?ﬂ K& Ejosited = 100MeV




Hadronic event selection

® FEvent level selection
v Number of good track N___.>=2

sood”

=

v" Deposited energy @ EMC == 0.40*E, ...,
1. Event with N, ,4=2
vV veto| 8,+0,-180° |<15° &&| |o—,-180° | <10°
number of Isolated photon N == 2
2. Event with N, ,4=3
v Veto, angle between 1%/2™ energy track
| 8,+48,-180° |<15° and| |o,—p,l-180° |<10°

Because the total visible energy of MC have a shift comparing
with experiment data. We weight the MC to the experiment data
using good charged tracks and good photon tracks distribution.



1ction

® 7 selection: neutral track from hadronic seleckon
v 0.09GeV < M(yy) < 0.17GeV

Why not use the
Angle >20 ° cut
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Angle of gamma with charged track

m_e1Angle {m_gam2 > 0.09 && m_gam2 < 0.17} |

m_e2Angle {m_gam2 > 0.09 && m_gam2 < 0.17} |
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Angle of gamma with charged track

m_e2Angle {m_gam2 > 0.09 && m_gam2 < 0.17 && m_pPi0 > 0.0 £& m_pPid < 0.1}

m_e2Angle

m_e1Angle {m_gam2 > 0.09 && m_gam2 < 0.17 && m_pPid > 0.0 && m_pPid < 0.1}

- htemp 600 htemp
600 — Entries 23880 Entries 23880
- Mean 54.73 L Mean 58.19
- RMS  30.93 500 RMS  31.24
- 400
- 300—
- 200
- oo
- 1 I | I - I | I 1 - | - 1 | | .—J-|_| L1 | L L1 L | - L I - 1 I - 1 | - L | Ll Il | L1 L L I Ll
0 40 60 80 100 120 140 160 180 0 20 40 60 80 100 120 140 160 180

m_e1Angle

0.09GeV < M(yy) < 0.17GeV

0<p(n®) <0.1G

eV



1400

120

00

00

00

Angle of gamma with charged track

m_alAngle {m_gam2 > 0.09 && m_gam2 < 0.17 && m_pPi0 > 0.1 && m_pPi0 < 0.2}
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Fitting result without angle cut
(Exp.Data)
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Fitting result without angle cut
(Exp.Data)
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Fitting result without angle cut
(Exp.Data)
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Fitting result with angle cut

(Exp.
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Fitting result with angle cut
(Exp.Data)
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Fitting result with angle cut
(Exp.Data)
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Momentum | Using

0.0-0.1
0.1-0.2
0.2-0.3
0.3-0.4
0.4-0.5
0.5-0.6
0.6-0.7
0.7-0.8
0.8-0.9
0.9-1.0
1.0-1.1
1.1-1.2
1.2-1.3
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Without

angle cut

(signal)
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S/sqrt(S+B)
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